13~63 20179 % AAA]

O wdas887H4(2%)

)

AT EAE7IE(13)
(9] - A
7F A9
3 2017 20179 % F7(B-A)
oArl(A) | ABA(B) o g4 E(%)
A 84,040 84,385 345 100.4
YA a3rd | Yaudry 8,755 9,155 400 104.6
HEFFY HEFTY 71,190 71,190 0 100
FAErdd FdETY 1,760 1,710 A50 97.2
A= A9= 735 735 0 100
ol & oldH 586 586 0 100
FEY e 1,014 1,009 A5 99.5
v AlE
2 3 2017 201734E 57 (B-A)
oAtl(A) | AIN(B) =9 9AE(%)
= A 84,040 82,967 21,073 98.7
Sk 63,388 63,388 0 100
AREH] R L] 54 20 A34 37.0
+4H| 4,450 4,142 A308 93.1
Az g Al 1,410 1,378 A32 97.7
iashal 9,300 9,176 A124 98.7
ARS3H]
AR 5,273 4,808 A465 91.2
AAE WA E 100 0 A100 0
of[H]u] ojlu]H] 65 55 A10 84.6
olgz 1,4188¥

(9] - A

7k A9

# 3 20174 20179% F7(B-A)
SArd(A) | BAAB) =X 94(%)

= 80,450 79,897 A553 99.3
PEAFFEFY | PSS 7,200 7,200 0 100
B4 BEE59) 68,079 68,079 0 100
=559 FA=FTHA 1,600 1,305 A295 81.6
A= A= 1,705 1,607 A143 94.3
ol & ol 961 961 0 100
el e 860 745 Al15 86.6

U AE

a - 2017 20179 FZ(B-A)
oArl(A) | AAA(B) A 2AE(%)
Sl 80,450 79,063 21,387 98.3
17H] 61,398 61,319 AT79 99.9
AR -] 60 30 A30 50.0
=34 4,950 4,597 A353 92.9
AFzgn] Al 2,350 2,165 A185 92.1
e =3H] 6,200 5,938 A262 95.8
AbgH| 4,572 4,366 A206 95.5
A= & 100 0 2100 0
Sl oflu]H] 820 648 A172 79.0
AdE oldF 83444




AFEEARINH(33)
(k9] - A9
7k A9
3 20174 20174% F7(B-A)
AN (A) | ARA(B) 2o 9 (%)
7 60,850 60,551 2299 99.5
PaATFET REIREaat 7,200 7,200 0 100
BZE49) HEE459) 50,873 50,873 0 100
R e FduvTY 750 460 A290 61.3
A= A= 75 75 0 100
olds ol gF 1,222 1,222 0 100
Ch e 730 721 A9 98.8
U AlE
2 " 2017d 20179E 7 (B-A)
oArl(A) | AIA(B) = 24&(%)
= 7 60,850 59,280 A1,570 97.4
Q17| 44,134 44,094 240 99.9
AR R L] 30 21 A9 70.0
=34 4,057 3,794 A263 93.5
Az g n) Al 1,900 1,712 A188 90.1
A 3H] 6,480 5,757 2723 88.8
k] 4,019 3,784 ~235 94.2
A= A% 100 0 A100 0
ojuln] ojuln] 130 118 A12 90.8
AAE o] 9F 1271344

O wdas887H4(43)

(9] - A1)

7k A9

# 3 20174 20179% F7(B-A)
ojad(A) | AAA(B) 2 9AE (%)

= 80,236 79,780 A456 99.4
PEAFFEFY | PSS 9,600 9,600 0 100
B4 BEE59) 62,648 62,648 0 100
FAurdd FA=TA 2,400 1,945 A455 81.0
A= A= 175 175 0 100
ol & ol 4,457 4,457 0 100
el e 956 955 Al 99.9

U AE

2 3 2017 20173% F7(B-A)
JAr(A) | AAA(B) A 245 (%)

Sl 80,236 78,294 21,942 97.6
7] 54,783 54,776 N7 99.9
AREH] R L] 30 21 A9 70.0
=34 3,971 3,455 A516 87.0
A Fzgn) Al 2,080 2,043 A37 98.2
e +GH 9,140 8,311 A829 90.9
AR 9,083 8,680 A404 95.6
A& A% 100 0 A100 0
ofuu] of |l 1,049 1,009 240 96.2

AHE o]gF

14863




THFTERENI(5%)
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o
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o,

O wdas48714(6%)

7k A9
" 20174 20179 %7(B-A)
AN (A) | ARA(B) 2 g & (%)

7 84,740 84,133 AB07 99.3
JaArgard | danEsrdd 7,367 7,367 0 100
BZE49) HEE459) 73,515 73,515 0 100
R e FduvTY 1,000 625 A375 62.5
A= A= 300 75 A225 25.0
olds ol gF 1,470 1,470 0 100
el e 1,088 1,081 AT 99.4

U AlE

2 " 2017d 20179E 7 (B-A)
oArl(A) | AIA(B) = 24&(%)
A 84,740 82,500 22,240 97.4
17H] 65,727 65,646 A81 99.9
AR R L] 60 22 A38 36.7
=34 4,516 4,005 A511 88.7
Az g n) Al 2,350 2,207 A143 93.9
A 3H] 6,642 5,810 £832 87.5
k] 4,226 3,675 A551 87.0
A= & 20 0 220 0
ojuln] ojuln] 1,199 1,135 AB4 94.7
AR ol¥F 163344

(9] - A

7k A9

# 3 20174 20179% F7(B-A)
ojad(A) | AAA(B) 2 9AE (%)

= 75,428 74,780 A648 99.1
PeATEaTTd | Yau &Y 9,600 9,300 A300 96.9
B4 BEE59) 60,415 60,415 0 0
FAurdd FdEvTY 2,390 2,065 A325 86.4
A= A= 210 205 A5 97.6
ol & ol 1,761 1,761 0 0
el e 1,052 1,034 A18 98.3

U AE

@ - 2017 20179 FZ(B-A)
oArl(A) | AAA(B) A 2AE&(%)

Sl 75,428 73,161 22,267 97.0
17H] 51,704 51,702 A2 99.9
AREH] R L] 100 21 AT79 21.0
=34 4,423 3,973 A450 89.8
AFzgn] Al 1,560 1,122 A438 71.9
e =3H] 9,250 8,646 AB04 93.5
AbgH| 7,316 6,732 A584 92.0
A& A% 100 0 A100 0
Sl oflu]H] 975 965 A10 98.9
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